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M. A./M. Sc. (Fourth Semester) (Main/ATKT) 

EXAMINATION, May-June, 2020 

GEOGRAPHY 

Paper XVIII (A) 

(Geographical Information System) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 
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(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- HkkSxksfyd lwpuk iz.kkyh ds mís’; eas ‘kkfey gS % 

¼v½ vk¡dM+ksa dk vksojys 
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¼c½ vk¡dM+ksa dks ,dhdr̀ djuk 

¼l½ uohu lwpukvksa dk fuekZ.k djuk 

¼n½ mi;qZDr lHkh  

Objective of GIS includes : 

(a) Overlay of data  

(b) Integration of data 

(c) Create new information  

(d) All of the above  

2- fuEufyf[kr esa ls fdu lzksrksa dh lwpukvksa dks HkkSxksfyd lwpuk iz.kkyh 

eas mi;ksx fd;k tkrk gS \ 

¼v½ vLFkkfud lwpuk iz.kkyh 

¼c½ LFkkfud lwpuk iz.kkyh 

¼l½ oSf’od lwpuk iz.kkyh 

¼n½ LFkSfrd lwpuk iz.kkyh 

GIS uses the information from which of the following 

sources ? 

(a) Non-Spatial Information System 

(b) Spatial Information System 

(c) Global Information System 

(d) Position Information System 
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3- ,d Hkkx ls nwljs dh nwjh r; djus dk le; mnkgj.k gS % 

¼v½ ukfed vk¡dM+s 

¼c½ oxhZd̀r vk¡dM+s 

¼l½ vkuqikfrd vk¡dM+s 

¼n½ varjky vk¡dM+s 

Time to cover a distance from one part to other is an 

example of : 

(a) Nominal data 

(b) Ordinal data 

(c) Ratio data 

(d) Interval data 

4- fuEufyf[kr eas ls dkSu&lk HkkSxksfyd {ks= dk mnkgj.k gS \ 

¼v½ ok;q rkieku 

¼c½ cSjksfeVªhd ncko 

¼l½ mPpkop  

¼n½ mi;qZDr lHkh  

Which of the following is a example of geographical field ? 

(a) Air temperature  

(b) Barometric pressure  

(c) Elevation  

(d) All of the above  
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5- dEI;wVj flLVe dk dkSu&lk ikVZ ^dEI;wVj dk gkVZ* ds uke ls tkuk 

tkrk gS \ 

¼v½ ekWuhVj  

¼c½ lh- ih- ;w- 

¼l½ ;w- ih- ,l-  

¼n½ dh&cksMZ 

Which part of the computer system is known as “Heart of 

Computer” ? 

(a) Monitor  

(b) CPU 

(c) UPS 

(d) Keyboard  

6- fuEufyf[kr eas ls D;k ,d dEI;wVj flLVe dk varxkZeh fMokbl ugha 

gS \ 

¼v½ Ldsuj 

¼c½ fMthVkbtj  

¼l½ IykVj  

¼n½ dh&cksMZ 

Which among of the following is not an input device in 

Computer System ? 

(a) Scanner  
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(b) Digitizer  

(c) Plotter  

(d) Keyboard  

7- fuEufyf[kr eas ls D;k ,d =qfV dh Js.kh esa ugha gS \ 

¼v½ izk:i eas ifjorZu  

¼c½ {ks= doj  

¼l½ ekufp= ekid 

¼n½ izs{k.k dk ?kuRo 

Which of the following is not a category of error ?  

(a) Change in format  

(b) Areal cover  

(c) Map scale  

(d) Density of observation  

8- MSaxy uksM dks feVk;k tk ldrk gS % 

¼v½ vUMw }kjk 

¼c½ bjstj }kjk 

¼l½ fogkbaM ‘kwV }kjk 

¼n½ vksOgj‘kwV }kjk 

Dangal nodes can be removed by : 

(a) Undo  

(b) Eraser  

(c) Behind shoot  

(d) Overshoot  
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9- fuEufyf[kr eas ls dkSu&lk LFkku foKku mi;ksx ds fy, U;k;ksfpr  

gS \ 

¼v½ {ks= dk HkwHkkx 

¼c½ ekWMy dh T;kfefr 

¼l½ tyok;qxr n’kk,¡ 

¼n½ ok;qe.Myh; n’kk,¡ 

Which of the following justifies the uses of topology ? 

(a) Terrain of the area  

(b) Geometry of the model  

(c) Climatic condition  

(d) Atmospheric conditions  

10- fuEufyf[kr eas ls D;k LFkkfud iz{ksi rduhd dk mnkgj.k gS ;Fkk 

LFkkfud] lVhd] vkdfLed] fu;rkRed rFkk {ksid djus okyk \ 

¼v½ Vh- vkbZ- ,u- 

¼c½ Fkkblsu ikWyhxu 

¼l½ LFkkfud xfr’khy vkSlr  

¼n½ mi;qZDr esa ls dksbZ ugha  

Which of the following spatial interpolation techniques is an 

example of a local, exact, abrupt and deterministic 

interpolation ?  

(a) TIN 
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(b) Thiessen Polygon  

(c) Spatial moving average  

(d) None of the above  

11- HkkSxksfyd rRoksa ds rhu izdkj % 

¼v½ fcUnq  

¼c½ js[kk  

¼l½ {ks=  

¼n½ mi;qZDr lHkh  

Three types of geographical objects : 

(a) Point  

(b) Line  

(c) Area  

(d) All of the above 

12- vf/kdka’k cM+s uxjksa ds ekufp= 1 % 25000 ekid ij fufeZr fd, tkrs 

gSa] D;ksa \ 

¼v½ ,d fcUnq ds :i eas  

¼c½ ,d js[kk ds :i eas 

¼l½ fcUnq] js[kk ,oa {ks= ds laxzg.k ds :i eas  

¼n½ ,d {ks= ds :i eas  
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How is a large city map most likely to be represented on a  

1 : 25000 map scale ? 

(a) As a single point  

(b) As a single line  

(c) As a collection of point, line and area  

(d) As an area  

13- fiDly fo;fer :i eas O;ofLFkr gksrk gS % 

¼v½ ,dvk;keh xzhM 

¼c½ f}vk;keh xzhM 

¼l½ rhu&vk;keh xzhM 

¼n½ mi;qZDr eas ls dksbZ ugha  

Pixel can be arranged in a regular : 

(a) One-dimensional grid  

(b) Two-dimensional grid 

(c) Three-dimensional grid 

(d) None of the above  

14- vkidks viuh vofLFkfr Kkr djus ds fy, fdrus mixzgksa dh 

vko’;drk gksxh \ 

¼v½ nks mixzg 

¼c½ rhu mixzg 

¼l½ pkj mixzg 

¼n½ ik¡p mixzg 
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How many satellites do you need to locate your  

position ? 

(a) Two satellites  

(b) Three satellites 

(c) Four satellites 

(d) Five satellites 

15- v{kka’k js[kkvksa dk izn’kZu ----------------- ds }kjk gksrk gSA  

¼v½ X-v{k 

¼c½ Y-v{k 

¼l½ Z-v{k 

¼n½ mi;qZDr eas ls dksbZ ugha 

Latitude is represented by .......... . 

(a) X-axis 

(b) Y-axis 

(c) Z-axis 

(d) None of the above 

16- MCY;w- MCY;w- MCY;w- Hkwou- dke iksVZy dk vkjEHk ds }kjk fd;k x;k % 

¼v½ vkbZ- vkbZ- vkj- ,l- }kjk 

¼c½ lh- th- lh- vks- ,l- Vh- }kjk 

¼l½ ,u- vkj- ,l- lh- }kjk 

¼n½ ,l- ,- lh- }kjk 
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www.bhuwan.com portal was launched by : 

(a) IIRS 

(b) CGCSOST 

(c) NRSC 

(d) SAC 

17- HkkSxksfyd lwpuk iz.kkyh rduhd esa Mh- ,l- ,l- dk vFkZ gksrk  

gS % 

¼v½ fMikVZesaV vkWQ lkbal ,.M Lisl  

¼c½ fMiksVsZM lSVsykbV flLVe 

¼l½ fMlhtu liksVZ flLVe 

¼n½ fMlhtu liksVZ QkWj lSVsykbV flLVe 

In GIS techniques the DSS is stand for : 

(a) Department of Science and Space  

(b) Deported Satellite System  

(c) Decision Support System 

(d) Decision Support for Satellite System 

18- losZ vkWQ bafM;k dk eq[;ky; dgk¡ gS \ 

¼v½ nsgjknwu  

¼c½ fnYyh 

¼l½ gSnjkckn 

¼n½ dksydkrk  
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Where is the headquarters of SOI ?  

(a) Dehradun  

(b) Delhi  

(c) Hyderabad  

(d) Kolkata  

19- esVkMsVk D;k gS \ 

¼v½ vk¡dM+ksa ds fy, vk¡dM+s 

¼c½ ekSleh vk¡dM+s 

¼l½ dUVwj vk¡dM+s 

¼n½ lkxjh; vk¡dM+s 

What is Metadata ? 

(a) Data about data  

(b) Meteorological data  

(c) Contour data 

(d) Oceanic data 

20- Mh- ch- ,e- ,l- dk eryc gS % 

¼v½ MsVkcsl ekWfuVfjax flLVe  

¼c½ MsVkcsl eSU;wQSDpfjax flLVe 

¼l½ MsVkcsl fefDlax flLVe 

¼n½ MsVkcsl eSusteasV flLVe 
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DBMS stand for : 

(a) Database Monitoring System 

(b) Database Manufacturing System 

(c) Database Mixing System 

(d) Database Management System 
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(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- vk¡dM+k vfHkxzfgr djuk D;k gS \ 

What is Data Capturing ? 

2- dEI;wVj esa fuxZrxkeh bdkbZ dkSu&lh gSa \ 

What are the output unit in computer system ? 

3- HkkSxksfyd lwpuk iz.kkyh esa fo’ys”k.k ls izkIr vk¡dM+s dkSu&ls gSa \ 

Which are the interpretated data in GIS ? 

4- HkkSxksfyd lwpuk iz.kkyh eas tky vk/kkfjr vk¡dM+k ekWMy D;k gS \ 

What are the network base data model in GIS ? 

5- fo’oO;kih fLFkfr fu/kkZj.k iz.kkyh esa fdrus mixzg gksrs gSa \ 

How much satellites are having in GPS ? 
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6- vki fdl funsZ’kkad iz.kkyh ls dk;Z djrs gSa \ 

Which is the coordinate system which you worked ? 

7- MkVk Qkby D;k gS \ 

What is Data File ? 

8- dEI;wVj dkVksZxzkQh D;k gS \ 

What is Computer Cartography ? 
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(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A ¼yxHkx 75 ‘kCnksa eas½ 

 Attempt all questions. (approximately 75 words) 

1- /kjkryh; lwpukvksa dh xR;kRedrk fo’ks”krk;sa D;k gSa] Li”V dhft,A  

Clarify, what is the dynamic characteristics of spatial 

information.  

2- baVjusV HkkSxksfyd lwpuk iz.kkyh dSls dk;Z djrk gS \ 

How worked internet geographical information system ? 

3- jkLVj vk¡dM+k ekWMy dk o.kZu dhft,A  

Describe the Raster Data Model.  

4- HkkSxksfyd vk¡dM+ksa dh xq.koŸkk dk ekiu dSls fd;k tkrk gS \ 

How the major quality of geographical data ? 
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5- fo’o vuqizLFk ejdsVj funsZ’kkad iz.kkyh dh jpuk dSls dh tkrh gS \ 

What is the methodology of construction of Universal 

Transverse Mercator Coordinate system ?  

6- fdlh ,d vadh; mPprk ekWMy dk o.kZu dhft,A  

Describe any one Digital Elevation Model.  

7- MsVkcsl eSustesaV flLVe ds izeq[k rRo D;k gSa \ 

What are the component of DBMS ? 

8- uxjh; Hkwfe mi;ksx ds fy, vk/kkjHkwr vk¡dM+ksa dk mYys[k dhft,A  

Specify the basic data for urban landuse. 
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(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj yxHkx 150 ‘kCnksa eas nhft,A  

 Write answer of the all questions approximately 150 
words. 

1- HkkSxksfyd lwpuk iz.kkyh esa ns’k o dky dh ladYiuk dk o.kZu 
dhft,A 

Describe the concept of space and time in Geographical 
information system.  

2- HkkSxksfyd lwpuk iz.kkyh eas MkVk ekWMy ,oa lajpuk D;k gS \ 

What is data model and structure of GIS ? 
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3- HkkSxksfyd lwpuk iz.kkyh ,oa lqnwj laosnu vk¡dM+ksa ds ,dhdj.k ij 

ys[k izLrqr dhft,A  

Write an essay on integration of remote sensing date and  

GIS.  

4- HkkSxksfyd lwpuk iz.kkyh ds vuqiz;ksx ds izeq[k rRo D;k gSa \ 

What are the basic elements of application of GIS ? 
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